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2 import matplotlib.pyplot as plt

18 import numpy as np

11
12 g,R

,m=9.8,0.3,0.2

= 250% Q:3OU~\.

13 x=np.linspace(0,96,5680)

14
15 def
16
17
158 def
19
28
21 plt
22 plt
23 plt

24 plt.

25

26 plt.
27 plt.
.grid(}
29 plt.

28 plt

fi(ad,x): y
return (2*g*R*(1-np.cos(x*np.pil/180)+2*a08*R*np.sin(x*np.pi/186)))**@.5 ( C,LJ' «(f

(2qk (A= Ur@) 4 200 RO

f2(ad,x):

return m*g*(3*np.cos{x*np.pi/188)-2)-3*m*al@*np.sin({x*np.pi/188) \\ 0‘0/" /\)
/\M-% g _2\_3 ml, a6
plot(x,f1(2,x),f1(4,x)) (3 o ) 3

g Jvl(zla»)w J{“((,,'ws; M¢M; Z(:»A B
I IEN

show( )

plot({x,f2(2,x),f2(4,x))
ylabel('f2{x)")

show( )
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